
Lucia, Cristina and Sofia went to a shopping centre in Merida
and enter in a clothing store. Cristina saw a beautiful skirt. It
cost 150 €. Sofia found a pink backpack that cost 40 € and a

pair of shoes that cost 80 €. But Lucy didn't find anything
suitable.

Cristina had 200 € and got a 25% discount on her purchase
and Sofia had 150 € and got a 50% discount.

1. How much did Cristina spent and how much left over?

2. And Sofia?
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   SOLUTION:

       1. Cristina spent 37.5€ and 162.5€ left over.

2. Sofia spent 60€ and 90€ left over.


